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(1) solve Ax =b for b={4]|.
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(2) Find rank(A).

(3) Find the Null(A) = {x € R’|4x =0} and the basis(% &) of Null(A).

(4) Find the Range(A) = {y € R*[3x € R*, Ax = y} and the basis of Range(A).
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(5)Use the Gram-Schmidt process to generate an orthogonal(¥ &) set from

1} [O'I l'l'

{{1].12}[1}
10) [1]][6]
1 2 -1 ¢ ]
_ , O 1 -1 171 ,
(6) Find determinant of A, 4= 0 -4 3 2| (1.e., det(A)y=7)
3 1 1 -1
(7) Find the eigenvalues (& A& 4 )and its corresponding eigenvectors (B # #; %) of A
o ot
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(8) T:R? — R’is a linear transformation defined by T'( xl ]) = | X, + X, |, please
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find a matrix A such that T(x)=Ax.
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(8) If A is nonsingular and A is an eigenvalue of A.
Prove that A is nonzero and % is an eigenvalue of A~
(9) Prove the following statement:
If A, B are both nxn nonsingular matrix, then 4B is also nonsingular.
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